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1. 3[/& q = (xl + I2)2 + 3(1‘1 — ZE3)2 + 2(2?[)1 + Ty — l’g)Q + 5(31’1 + Ty — 21’3)2 /_\Eé RB J:E]/‘J
TIRML R g KA.
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q: M,(R) — R
X = tr(X'X).
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4. WV & B F BRI, f € Map(V, V). SHER k € Z7,

fri=fofo--of.
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W pr, ..., o € Map(V, V) i 2

Vi je{l,....,k},i#7j, ¢iop; =0
Hrp 0r A3 Map(V, V) HZmLss; Bk e

Vie{l,... .k} i#j, ¢F = ¢
BAFSEER) ay,...,as € F,n € Z7,
(nr + -+ apdp)” = af o1 + -+ - + A o
E ORI AR S b, ... o ARA —ANIERTEE T
5. % A€ SM,(R) IEE. WEHIX TAEE m € Z, A™ 1EE.

6. (I&f) W A € SM,(R) 1IE&E. UFEH det(A) T A BN MLk FonR Y EAY A
TR R



